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g@sﬁlu_ld) / SCIENCE

(s wHmID Bl euyl / Tamil & English Versions)

GirLd : 2V2 et | [ Qrgs wHubuamser : 75
Time Allowed : 2%2 Hours | [Maximum Marks : 75
Sileyenr : (1) Smangg edlamssepd sflurg &l udleurd o dqrersT erarLigemer

slurTsgs Qamerereyb. FsLLdelled GamulmLder emms
sesranillureril_b o | arnguirs Cgflelsse]m.
2) fob ooz smUY owulmear LLEGCWL (W USDHEGLD
Sl &CHMg(HeusH@D LweThds GCeuear(hd. LILBISET eUamTeUSD S
Quenfled LweT(HSHe| .
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

GO : Qeualemssrer eesm) 9 fe smers Csmeim_gi.

Note : This question paper contains three sections.

Slfley - 1/ SECTION -1
(ndlliQuenrger : 15) / (Marks : 15)

Gy : ()  @Uulfedle 2 crer 15 eflenmasEpa@EHWw cflanLwafl&sHa]Lb. 15x1=15

i) Seorlys Hulaldr desrhssiiul(Herer LTHN 6denLsart e
Blae|b gflwren clanLews CsrHOSHSS 6T (WS ib.

Note : (i) Answer all the 15 questions.

(i) Choose the correct answer from the alternatives given in the brackets.

[ HpLiys / Turn over
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@enaadlen srihg Bilfley Crmullerme urdssiiul (Herer weaflseafler samentiisse
CFevger feangeuen_HSl(mHe@LD.
(peoum, SCLm, smomr, QL)

In persons suffering from insulin - dependent diabetes, the cells of pancreas
are degenerated.

(Alpha, Beta, Gamma, Delta)

Yops GWHosEE e Wseld BarGésrn@n Crmis shHULS
(aumieulfl GumrellGuir, DPT, DPT womitb eurleull GCumrelGuir, BCG)
The first vaccine injected into a just born baby is

(Oral polio, DPT, DPT and Oral polio, BCG)

CrriugenL g &TlL warL s L el Tyl Brerwleoors &yl
(engrmli(®, engoev, o flerd, Seflwed)
The endocrine gland related to the immune system is

(Thyroid, Thymus, Adrenal, Pineal)

Bfle sarpencuss eflensenw S (PsHbL Qureppg auflurs Bi
55
(Qeaggianer, Geeiq e, enwsGrrenuic, panerGeurr)

If a water soaked seed is pressed, a small drop of water comes out through the

(Stomata, Lenticel, Micropyle, Radicle)

WO Fed eumevay @eLule srewtliLi(hEmg).

(auewgl < MEHlear LOHMD g CQeuarMsHler, QL g <MN&der wLHmILD
@QLrg Qeuarlflsder, auewg Couar fadler wHmbd meruired e,
@Lg Ceuem fgdler wHmID CLmBSET )

Mitral valve is found between

(Right auricle and right ventricle, Left auricle and left ventricle, Right ventricle and
pulmonary artery, Left ventricle and aorta)



10.
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réarmCrrureféa, 2 ameyll Gurmearseamer 2 MHEhFeugnaTer &mliLimer
Ceurserr

(anreavGLrilumger, ewwsCarenrared Courser, upm Ceurser, Coumml
Courger)

In monotropa the special type of root which absorbs nourishment is the

(Haustoria, Mycorrhizal root, Clinging root, Adventitious root)

Uigbs WHMILD WOSSGD ClLTHeTsHemerT wpepuflermed Bésemib.
(g Blanws &sSlafly, @reamLmd Hlawd asdafly, apearmrd Hleped
&Sy, Copurliyg s&sdasfliy)

The sedimented and floating materials are removed by this treatment process.

(Primary treatment, Secondary treatment, Tertiary treatment, Peripheral treatment)

PSLO WHFE Gefllueurser seaurflssl LwaTUBSSID ITLESLE6
(abedlwid - oy &edlsmer, &adlsmer - bl Temer, aDL FEmeT - bl Fame)
The mixture of gases used by deep-sea divers is

(helium - oxygen, oxygen - nitrogen, hydrogen - nitrogen)

<8198 gllawgdler aflalar o arerg). sudfler 2 erer ojLSlevd
(r&lgd Sjled, LrrLmils e, S ojdlem)
Vinegar is present in acetic acid. Curd contains acid.

(Lactic acid, Tartaric acid, Citric acid)

Spasgs sMws CoFrbBEERsEGL OlgliLemLirea Sealod
Qgr@dude o crerg.

(14-aug) Qar@dlude, 15-eug AsrgHule, 16-eug Cgm@Suden)

An element which is an essential constituent of all organic compounds belongs to the
_____ group.

(14t group, 15t group, 161 group)

[ Hpliys / Turn over
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11. @ruur ureped sl igliuBEsl LwetUhSng.
(ergganTed, eTHSEMUASE 2 dlevid)
is used for coagulating rubber from latex.

(Ethanol, Ethanoic acid)

12, FlmE =eredl erarLIg) eUeNT 2 6TeT ere|&@GL Lflbmenrd o 6Ter
Was Sl CummeTtsaner jerall(Hid HEHewm@LD.

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

Screw Gauge is an instrument used to measure the dimensions of very small objects
upto

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

13. 255 iUl () I55HDE&HF Fwwrear @uDauD SjeaTey
(@QLUuCuwrEsl, pH&Esb, g, samssnsE ellans)
The physical quantity which is equal to the rate of change of momentum is

(displacement, acceleration, force, impulse)

14. $Ceomeurl wewil eremLig 6T DG A, GLD.
(Blemar(psds Ceumur(®, Wendlmen, Wemermmmed, Wlererl L 1b)
Kilowatt-hour is the unit of

(potential difference, electric power, electric energy, charge)

15. 2 Corssd sLsHuler uruyd WearCarmlL b ergamend &mml
2 (HeUT&@GLD.

(smBsLl Leobd, erpdlr allens, grer(h WenCGermi L Lb)
An electric current through a metallic conductor produces around it.

(magnetic field, mechanical force, induced current)
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lfley - II/SECTION - II

(FlLCueTaeT : 40) / (Marks : 40)

@MlLy : stemeuCuenid @pugl aTssEndE elenLwefléseyb. 20x2=40
Note : Answer any twenty questions :
16. &L 5FEIq W LT eT SLb Hnmleangdln@er@nd, CuflardSn@eT@sid wmmiLihib.

17.

18.

&SI LIRTLEET TS rniumhiser Qsreamhiararar erand @GN hs.
i) welss searenter Himd Beb, UL, ULL, UFmg erar wIMUBEHDS.
@eueuens wrmumT(h eTarliL(HLD.

(i) @pwed, wrener GumremmeuHMed STeRTLILI(HLD Licd enLoliL] rmiLil (HeTerg).
@eleuens WrmUT(hHSET erarliL(HLD.

The inheritable characters vary in different species and within the same species. Name
the variation in the following cases.

(i) The eye colour among the human beings are varied as blue, black, brown, green
etc. This is called as variation.

(i) The dentition in the rabbit and the elephant are not the same. This is called as
variation.

oyl Qurdludlwed eresmmed eremer ?

What is Genetic Engineering ?

EpdrateupmieT H@EHS Qevantaamerts QLT(HSSIS.

(pmBgIser, erfClummer, mearamudfl, eueriéleng wrHmd, s dlemkiser)
@)  sGUY Ww@HH i) Quipens eumyy

(i) HLM& <devid (iv) eneulL LOeaer

Match the following by identifying the pair :

(medicines, fuel, microbes, metabolism, organic acids)

(i) Vaccine, (i) Natural gas,

(i) Citric acid, (iv) Vitamins

[ Hpliys / Turn over



6830

19.

20.

21.

wrrevwev wHMID GeuredlCurisT Crrisedr Lrss @GepmuTl LT
gouBdlemmer. wrrevwev Crrl, GeuradlGuirrasr Crruiedmbg o Libw euulm
LHMLD WP&5HD IG5 Y Hw SM@EHser epabd CoumuBdeamer. @)damDm
sflumr ? seuprs Q@uber Slmss er(pss.

Marasmus and Kwashiorkar are both protein deficiency defects. Marasmus differs

from Kwashiorkar in enlarged belly and swelling in the face. Are these symptoms for
the above diseases correct ? If not, correct it.

ECLp o dmar UL cuarrhgl GarhssliulBerer @llysafler o saflwime
LUMSBIGEETS GNI&HSE.
Copy the diagram and label the parts with the help of the clues given :

i) Qg AnBresder Bg siewpgiarer &gl
ii) @& &réE anmrGLranser <,CLTavle CrmeT HMID STy Cenmem <y, @ Lb.

(

(

(i) It is otherwise called supra renal gland.

(i) It secretes two hormones, namely aldosterone and cortisone.

QarH&SULIL(HETeT LLSMS eUenThHE S(PETer LIMEhIGMmeTd: G HdEse, L.

(i) er&emenen i) Epmo Blusetwen
Draw the given diagram and label the following parts.
(i) Exine (i) Tube nucleus




22.

23.

24.

7 6830
LTeneeUand @GLpedled aump el L& Qupmierer Saeuanlilsafled Hrendleanen
G NIIGE:S

Mention any four adaptations seen in the camel so that it can live successfully in deserts.

Gangdler AurmpsTsemss CoMHASOSS! €955

(i) @Cermyalen, GGermupHa6D, «.enLAfGarmenen, o,eL|dle.
(i) weewr®&er, QaTbLenLw GFbLMUITHEET, Srigder, &o.
Pick out the odd one out.

(i) globulin, glomerulus, fibrinogen, albumin

(i) mountain goat, big horned sheep, grizzly bear, seal

1G6mmau(HLd <fL_LeuenemTenil [HlFLiLs.

sle] B&s 2 niiy | CleusflCupmid sibley sle Qur@mensen
wpflwm, wflé <jlevib,

SmBrad Ambr Sflwm_igefer Cumem
WPESIW enBLTe6 SL5l6seT
. CeueflCwmm it
BlaTured e
ST
. <siflawmer B wHMD
Ggre> | o
2 LIL|G6IT
Complete the table given below :
Excretory organ Disposed as Excretory products
) ) Nitrogenous waste products -
Kidneys Urine . -
Urea, Uric acid, Creatinine etc.
Lungs Exhaled/Expired air | ___
Skin [ Excess water and salts

[ Hpliys / Turn over
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25. GsrO&slulipmeEGD LULSMsS SHalelss.
(i) UL A, B-ob srewrliL(hb @Qu&skiIEmers @GOILLAHS.
(i) ereueurm Qelcllwssmsar CAgriiLmed SHapmd Qevosafler
Quissnisetadlmbg CeumuBSlemmer ?
Observe the diagram.

(i)  Mention the type of movements shown in figure A and B.
(i) How does this movement differ from the movement of mimosa ?

)
Y4
lg

e .

26. FTEEHOIE SMTFD YOSADTEONE LOTHHLOMLEMF).

() Copsar_ dswale assmaw Hlspssl perL CunSng ?
(i) erps memamuifl FOLOSDS ?

Sugar solution is converted into alcohol.
(i) In the above reaction what kind of process takes place ?
(i) Which micro - organism is involved ?

27. Spssrarrueihapll QUT(HSSIs.

3 b
a) wCwraflur Qs i) eumeTSFZNFLI L|(LPSSH6T
b) wWACWTELeds& ii) Beraser

o) wNGasrLells
d) Qplfigqurdser
Match the following :

i) LITeYTLIq-&eT

(
(
(
(

iv) UmeneUSerT

A B
(a) Ammonotelic (i) annelids
(b)  Ureotelic (i) fish
(c)  Uricotelic (iii) mammal
(d) Nephridia (iv) birds



28.

29.

30.

31.

32.
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Yemeu(meuemeupennll LweTL(hgS o el shidldlenit o (HeursEs.
(UmbY, Y&, &(p@, seuamer, el (hadlaf)
Depict a food chain by placing the following organisms in the correct trophic levels.

(Snake, Grass, Eagle, Frog, Grasshopper)

Curs@eursg arsamseafler LwaTLhSSULMHLD Sreu 2 uifl erMCummerser
wrenel ?  (erenelGuignid Hmeo(s))

What are the various liquid biofuels for transportation ? (Any four)

wroluerer, Hmbullum @uigd, HEmbulup @QUEOTS 6uUeTE &6 er
WPedOUITS CUT(HSSIS.

GUGITIRI SEIT A B C
ULGLUmID
Ao . .QJ il STHM) G Grredlwitd
QUGITTBISHET
EIGILININION) L . @flwigpar]
o @anl_rmen | Guhens ey L
QWIS GUETHISHET <MHMED

Match the suitable renewable and non-renewable sources.

Sources A B C
Renewable Coal Wind Petroleum
Non - Renewable Hydrogen Natural gas Solar energy

Lo Wlebadlulenr <4,amr(ha(@hd@ (pemart Liedludled Lengu el Sreurls Clummerser
feseuanL_BssTed Uigld erflummerser o (peurudear. erencuCGuienid @) e
Ligo erflClummetsamensd gamis.

Fossil fuels are formed by decomposition of biomass buried under the earth over millions
of years ago. Name any two fossil fuels.

9@ rereiwen @WISEHD GTTDTE GTeoTe ?

What is Brownian movement ?

[ Hpliys / Turn over
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33.

34.

35.

36.

37.

10

20 &l gewwwed 2 Lienu 50 & Bl sanrsHmpsTe sssmysen Cadetlen ssais
Hlepmenwis senrsdl(hs.

Find the concentration of solution in terms of weight percent if 20 g of common salt is
dissolved in 50 g of water.

12.046 x 1022 amisser CareamL  grllgsdHe odrer  Gurasafler
TR GEENHEIIS HaTdhd (h .
Calculate the number of moles in 12.046 X 10?2 atoms of copper.

A, B erain @5 Sjblewmiger (paemalulled eneudssLliLil (HeTerer. A-LSlQTETE

Bl u@HwerCeu 9NenswLenLSng. aTed B-HLOWLTEE (LP(LPELOUITEL]

flenswenL_Smg.

() A, B ofleomsaled auallend Geaonhs leb erg ? eaudlaw WGHs
Sblevd ergl ?

(i) eudlend GBS AWSHDEGW, euellend WGHE HBOGSHDHEGD eff
T (H55E ST_(H S(HS.

Two acids ‘A’ and ‘B’ were kept in beakers. Acid ‘A" undergoes partial dissociation in

water, whereas acid ‘B” undergoes complete dissociation in water.

(i)  Of the two acids “A” and ‘B’. Which is weak acid and which is strong acid ?
(i) Give one example for weak acid and strong acid.

Aurmpsremss CambAsOE8! eT(psIs.

(i) seafllo guleoniger : HCl, HNO,, H,S0,  HCOOH

(i) &SSO @ @QrHsb, Famwpwe Gerim, efefsm, eIl Hruwerumr (b
G wreflwm

Pick the odd one out :

(1) Inorganic acids : HCl, HNO,, H,50,, HCOOH

(ii) Basic Nature : Blood, Baking Soda, Vinegar, Household ammonia

geupren eursHwSnss HmsS 6T (pg)s.

() @rewreug Asrim ol C(grir o@b. @déd @rear®h seflhiger
L (HLD 2 6TeTent.

i) 18 b AgrEds salwrmsedr CanCarmer GHWLULL TaTHenLEE L
L@ SHerment.

Correct the mistakes, if any in the following statement.

(i)  Second period is a short period. It contains only two elements.

(i) Group 18 elements are called Halogen family.



38.

39.

40.
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2 NIFILILOSSEIS0 : STOTL LTSHrmiser grimwliu@BssliuLeldamea eretle,
L&ens Biml Ligeud GCarermidlmng.

SMJEUTID : @BSL LigngHDETer sTreaurd s srolys smmuGer

(=) emFliuBsgIse wHMD srrewd &fl. sryawd sflwrg QUTEHHSISDS.

(=) e mdliL(BSgISe &il. srrewrd sflwrs CummBHeSlLme.

Assertion : A greenish layer appears on copper vessels, if left uncleaned.

Reason : Itis due to the formation of a layer of basic copper carbonate.

(a) Assertion and reason are correct and relevant to each other.
(b)  Assertion is true but reason is not relevant to the assertion.

sarmi&T LSUIL(HSSEGL Lwerl®ib (A) ererm &g Camngdler epedanm)
eaumum( C,H,0,. @&Gsmob erggeammayLer edlenerfbg @ el ewrpeant
Ggmrobd (B) -evws SmSmg.

(i) Garob A wHmd B -eows sar(bigss.

(i) @wwepuler LW, g6 Coudld FwaTUT L 6T(LHFIs.

An organic compound (A) is widely used as a preservative in pickle and has a molecular
formula C,H,0,. This compound reacts with ethanol to form a sweet smelling
compound (B).

(i) Identify the compounds A and B.

(i) Name the process and write the corresponding chemical equation.

apml (A): &THS @sSamse] MbuwTE@GD (MRI) wanulld eueéEs
E&ThsLL oSS wafls 2 L 2 emepmiliLseic 2r(hmeud GlFuig)
cuflgaamGeanTmL_L b (scanning) @L LiLi(hEmg).
snyewid (R) : eausllepbwrar sTHSULOSSTO ASls0 uGdHmer Ol&merL
YbumigameT CumeoTLd.
(A) saupreng), (R) sflwurerg)
) (A) sflureng) (R) seupmreng
(4), ® @ran(i> seprarg
) (A) sflurarg), (R), (A)-8 auelunssEng).

ssertion (A) : MRI is used to scan the inner organs of human body by penetrating
very intense magnetic field.

>

Reason (R) : By use of very intense magnetic field, very high resolution images can
be obtained.

(@) (A) is incorrect and (R) is correct.

(b)  (A) is correct and (R) is incorrect.

(c) Both (A) and (R) are incorrect.

(d) (A) is correct and (R) supports (A).

[ Hpliys / Turn over
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41. 14l & Hlevpwjarer e Cummer 20 5 2 wirsdHed @B 6dlpd Qaiwin@ng.
sanrel aubgamLBEEID, ACH CaussHle COowsng. o hg LIMUTL ML &
srews. (g = 10 15/69° erevs)

An object of mass 1 kg is dropped from a height of 20 m. It hits the ground and
rebounds with the same speed. Find the change in momentum

(Take g = 10 m/s?)

42. QuUTBHSES
> MILIL|&eT GHSEG
@) |féin seotd ()
(b) |srefl (1) sl s (epiqway)| ) =
© |89 Gavawiy (i) AW
@ |féin senL | —(o)—

Match the following :

COMPONENTS SYMBOLS
(@) [An electric cell (1)
(b) [Plug key (or) switch (closed) | (ii) +| =
(c) |A wirejoint (i) A
(d) |A resistor of resistance R (iv) —(o)—




43.

44.

45.

13 6830
Camgl L @ migener HlrliLs.
(i) Wemerpss Coumur® : Ceurevl 5L T, eraflé WenCearm L ib :
i) Srdler Hleneowid : wyyFTT < HmD, erafled @GN < dmed :
Fill in the blanks :

(i) Potential difference : Voltmeter ; then Current :

(i) Hydro power plant : Conventional source of energy ; then Solar energy :

QuUEBEISL® Celliu Hm® GMIGE 6T(PSHIs.

Write about ocean thermal energy.

emeumd sHT euenyuL b GWwimquild Gibub Caramieianss GN&@ELb.
(=) daieter enpend seartL_HlBg, WeppwnHm SHT euenTUL LD eUETIIGLD.

(=) 2 ms6eT Sl(HSsS5SDaTan alleTssn Sreyb.

The ray diagram shown below is introduced to show how a concave mirror forms the
image of an object.

(a) Identify the mistake and draw the correct ray diagram.

(b)  Write the justifications for your corrections.
M
C\\F\>P

N

[ Hpliys / Turn over
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46. obeTnl cueEms eldlenws Fnm.

Define Fleming’s right hand rule.

47. @ GN0oaddmbg 25 GF.B Qgraoeld o drer g Gummear Casasy,
erermed 20 Q&5 Qgrenevelled AbuSms eHLBSHSDE crafld, Geversl e
Gelwg Csrenavey ereer ?

If an object is placed 25 cm in front of the converging lens forms an image 20 cm
behind the lens, then what is the focal length of the lens ?

lfley - III/SECTION - III
(ndlliQuenTger : 20) / (Marks : 20)

@iy : () e@aGCeurm LGHUISHHSID @ elarnm aisb HIEsIE eHlamTéssEhsE
e well&sa . 4x5=20

(i) eeubeurm efemmelh@Ld gBG WSILICLIETSET.
i) Cgeveuwrer @L misailed LLLD cuanys.

(
Note : (i)  Answer any four questions by choosing one question from each part.
(ii) Each question carries five marks.
(

iii) Draw diagrams wherever necessary.
L@&S - I/PART - I
48. o mger LGSl wGeoflwmr Lrell o ererg.

(=) Qsoars s_(HUUBSS 2 mser LuGdHuler o M SieiorsEErsEEsS SEHS
<2, COTFENET GULPMHIES.

(<) wCeMwreller sflwrer Crml iMGHulenar er(pgis.
There is a widespread outbreak of malaria in your area.
(a) Suggest some controlling measures to the local authorities concerned.

(b) Write the symptoms for malaria.



49.

50.

51.

15

(=1) ECp Car@ssLiu_(erer CQerpaamer eneusgl, LsHenwt HlrliLs.

(pperCergyibys Qasrii, eouCumr ColL i, rsermi(h 2em, fpener
2 am&6T, lguprm Gl L)

eI BILDL| LOERTLOSENSF HHOIW|ETET epeim LIMGISTLIL| 2 epmaeT, ¢l (b
Qurssors (1) eremm ewpssiiudleamer. wearenl Cwimr® wHmID
) &6 <iguld simwbgera Qaealiyn QrimLé sgar 2o
B) eram SmpssiuBFng. Qweoadlwgd, Qrss BraThisamerL
Quppgiorer BH 2omwséE @)  ererm CQUwWm. epepeTEnILLD,
saT(hHelLsengud &HH CBEMHESLTS anwhbglerer o L Ljm 6lwededlw
2 wwd@& _ (5)  eremy GQuuwi.

(<) gl uanswner BrbLE Cadgeflen GLwrsmer 6r(Lpgis.

(a)

(b)

Use words from the given list to complete the following paragraph.
(Vertebral column, Piamater, Arachnoid membrane, Meninges, Duramater)

The central nervous system is covered by three protective coverings collectively
called (1) . The outermostcover lying below the skulland _ (2)  isdouble
thick and is called _ (3) . The middle covering is thin and vascularised and is
called  (4) . The innermost cover is a very thin delicate membrane and is
closely stretched over the outer surface of Brain and Spinal Cord and is called

)

Name any 5 types of nerve cells.

L@&3 - II/PART - II

@m esdleneg reur ellenguden enwlienUll UL S 6T afleuflss.

Describe the structure of a dicot seed with a neat diagram.

(1) usen Goudludlwed eremmmed erevmeo ?

(=) ugenw Caudlullwedlen alleneTeimed 2 (HUTESLILIL S FalgW 6T ST

()
(b)

QUL SET Wreneu ?
What is Green Chemistry ?

Write the future products of Green Chemistry.

6830

[ Hpliys / Turn over
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52.

53.

54.

55.

16

L@&3| - III/PART - III
f Samiemalll upPlw Ggefleurear clleTéssams oiefGs5amiq Helem oiamidh
QsretenswTarg Smes Garereans, Hlaouildors Casriur®, sHCUTmsw
sant(h9ig LiL&s6eT g dlweuhernsd Caram o (peurarsm@h. @eummdler epaLd
peler emis Carearensuler GCamur@samer allouflss.
Modern atomic theory takes up the wave concept, principle of uncertainty and other

latest discoveries to give a clear cut picture about an atom. State the findings of modern
atomic theory.

Fr&gEmTs sl ILTS(mBg rdsamed SuThs@n weananw edleufl.

Explain the manufacturing of Ethanol from Molasses.

u@dl - IV/PART - IV
) Bl Lafler pged Quss ohfl, allanguller uamenu elleTs:Gdmg).
@&ammerm HluTwiLbhSSs.

(=1,) 10 £, 15 S Hlevpujerer Qum@meTser wenpGur 10 el ~1, 5 el ~1
Causgdler Gewaiamsls UL T (Hdpg. el Cordsbsrerdlermer.
Cuorgaler Curg meu ATl (H&GarearEpd Crrb 2 afarmiqger.
Corssgliler smea weopGu 4 a1, 9 e~ Coussdle
Geddlemen. cretled Fy, F, @aupennd sres.

FF K
- <
‘m/s . 4 m/ S .9 E

(a) Newton's first law of motion gives a qualitative definition of force. Justify.

(b) The figure represents two bodies of masses 10 kg and 15 kg, moving with an
initial velocity of 10 ms ~ ! and 5 ms ™! respectively. They collide with each other.
After collision, they move with velocities 4 ms~! and 9 ms ™! respectively. The
time of collision is 2 s. Now calculate F; and F,.

FF F

— <«

HONCONCHOE

urreneld Gepurhiseneards GHILUEL(H Seupern efleufl. eubenm ereueumm)
gfl Qewiweomd ?
State and explain the defects of Vision. How can these defects be rectified ?

10m/s

10 m/s

-00o0-




